FH25FE BERIBESFAR/N\L—R—ILEFERS

(1BE BF&R) B 12/14 (%) 8:05 5 8:30 K&EHBA
25 © BIF @ Ei @ tEWI% @ /MRIE
D| BIE =5 Ad—k @D BIF =5 Ba—k
F— L% 1 2 3 4 [&at]ER F—L% 5 6 7 o IE5
T 7n i IR DN EEDNEE
| mm Jeoloiszmd s | 2| [of —mx ooz o1z 2 | 3
o| s [z ool s | o | ||~ [daefan i
25-3 25-19
4| BT 225_1J 2[25_1710 \4 1
@ Rl =15 Ad—hk Q@ B =5 Ba—k
F—L#& 8 9 10 1 |&ar|JEA] F—L#& 12 13 14 SEtER
. 25-2 . _ _
| m gesoh oce K K I AN IR AN E
14-2
ol /4Eg 2[2255‘_‘60}0 1&8:232 3| 2 13| @EE zﬂgg:;g% o@gjﬂz 3| 2
o] —=T2 o[ﬂ:gg} 0{160_’2255}2 2| 4 14l 2[2255__1@0 z[gg:;ﬂo 4| 1
23-2 25-1
1| REE 2[25—12} 2&4—23 1 4 | 1
25-7 5-1
Q| IEMTE &5 Aa—F Q| EMITE =15 Ba—k
F—LzZ ] 15 6 17 S ER F—_L% ] 18 19 20 ST ER]
N [z o o] [z 22 ol 230 of
25-2
b= 15-25 s 16-25 7-25
16] (S o[zs_zflz {fgzgaz 213 191 IFE 0[13_25J2 0[20—25}2 213
- 22-2 . _ ~
17| EMEE o@g_gaz 2&2131 3] 2 20| —=HE 0@3_332 {2255_2@0 312
@| IMETE &5 Ad—hk @ IMEIE =5 Ba—k
F— L2 21 22 23 SEt]IEf] F—L2& 24 25 26 &St [IEf]
23-2
NN N NN E LN
25-23 24-26
e EN RN DR R - IR ERNEE
26-2
2| ze® o[}é:igﬂ o[f;:;:jz 2 [ 3| [oo| TR 2[2};?3]0 2@2:%1 4|
REIEGF—L1)—=Y) REIEGBF—LY—Y)
F—L% i 2 3 4 [ BEt]IER F—L% i 2 3 & Et]IER
1 #3HA | B1RE 1 A D
2 e 2 E1HA HoHA
3 =33 | gots 3 E371E | £28E
4 gua | mama
IBRLRE A&

D2REDEHRAUNENEESIBR
QtvrEABEWNEEEIERET S,
QBAERNFWEXESIELET S,
@FTEDFEIZL->TELHEBRIER AN EL T

B 2P, BE 1P, BEMEETTIRIR---0P

b E=2HE0OF VM- 2HE DR EYMNAE
BRE=2HAOBRGERE-2HEOREREK
55 . HETRD S



FH25FE BERIBESFAR/N\L—R—ILEFERS

(1BB LFHEER) AR 12/14 (%) 8:05 Bfit%  8:30 K& 3iEA
=5 @ KRB @ FH ® EZE @ —=it
D KB =15 Ad—Fh D KEN =5 Ba—k
F—L% i 2 3 4 [ &E[IER F—L% 5 6 7 8 | &at|ERL
1| s ola o] 4 | 1| | 5| —mm o 52222 s | s
2| #em BB afofztzd 2 [ 4| |6 —am o[ 18 f2[2 2ol s | 2
s| o [o[2le[2 s s | |7] wen [0z i
I NN A L P
@ AN =5 Ad—Fhk @ AP =5 Ba—k
F—L2 9 10 T 12 &atIEA] F—L2 13 14 15 16 [ &afJEM]
9| BEHRE 2 a2 1]1 19_20 2 13 P 2| 25718 o] ,| 25715
EERE 2§:$5 22:2 31 2 FHH 25-20 25-10 412
~ 25-1
0] 2[52_5;} 0 2&2:251 41 1 14| mE 2[ ]ﬂ 0 2[5_@ of 4 | 1
13-2 _ . ~ -
1| Mg 1&2:532 0[5;_2212 2 | 4 15| FER® 0[;2;2}2 0[}‘5’532 2 |3
25-19 17-2
_ R 15-25 15-25
R o] [ e Pl T
© HEx =% A+t ® HEE 2B Ba—+
F—1L.% 17 18 19 20 | &=tIER F—L% 21 22 23 24 | &=t]IER]
13-25 25-1 25-1 25-20
17| HENE 0| os 2]t :3:25 2 21 4 211  &F#0 1 1235 2|25 500l 3 | 2
| o) o | 2| | e i ol 4 |
19-2
10| 2= {2255‘_‘9910 2[52:;‘25}0 4|1 23| HE% 2&2:131 0[}2:52}2 3|3
15-2 - _ _
20| —EEE 2&2:131 0[};_232 3|3 ol BxxHF o[fg_giz 0[1892255]2 2| 4
@ —=it =5 Ad—k @ —=i =5 Ba—k
F—L% 25 26 27 28 || &at|IELL F—L% 29 30 31 A EIERL]
» 22-2 _ _
| —mt [ ofema o] o | 1| o] s o880l 31 o |
N - oo 2 | 4| eof o ol 2220 3|2
= 20-25 25-18 N 14-25 24-26
21| — =™ °£21_25}2 2[25_21] 0 312 31| KiILFg 0[11—25}2 0[14—251 2 2|3
25-22
o] o | o2 gy 5 |
HEIEGF—LY—Y) HEIEBF—LU—Y)
F—L% i 2 3 4 [ &E[IEf F—L% i 2 3 A EIERL]
1 #3me | Bima 1 B1me | Boma
2 Home | Hana 2 E1HE HoHA
3 FE3HE #F28E 3 $3:E F2iHE
4 F1RHEG | F4HE
NBRLR T A%

O2HEDEHRAUIABVRERIEL  BE---2P, BE 1P, EHEF (LRUX---0P
QtIbENBNEEBIEMET D, TYME=2HEOBLIMET2HEDR YN
QBRENTVEFETIEM LT D, BRE=2HEOBERE-2HEGOREIRY
@RTEDFEICL > TALBRIBMNELT-HE . HETRD S,



FR25FE BRIBBEFIRNAL—HR—ILEFERS

(2BE BF#ER) HEF 12/15 (RA) 800 FAt5 825 FIHXATOra—IL
=5  IMRIFE
O EBIX 25 EIX 1 REBIN |QEHTIE 25
Aa—hi#E 28-26 AD—hEsE
2 {gg:}g} 0 Al B2 2 tg:gﬂ 1
@ EHmIk =8 (EBIE 2 vt —Em |© EBIX 245
Ba—hiE zigg:gﬂ 1 A4 /!6 B4 zﬂggjﬂ 0 Ba—hHE
@ J%:”: =5 %ﬁ'“l 3 25-19 e — IJ\W:I:% @ /J\WI¥ 3]
Ba—hiE 29-27 2 25-20 0 2522 Ba—hi#E
2 {25_221 0 A2 Bl 2 {25_221 0
@ MEI¥rE  —F 4 Eé; — iEx @ Bt 2%
Ad—hiEE 2519 AD—hiE
2 {zs—w} 0
EBIE MMRIE
HmI% PN
2 ;gjg 1 A3 l B3 2 ;ngg 1
25-14 AS or BS 25-20
w1l 2 fE
2| 22-25| 1
25-20
B —= #EH —BE st EBTIER s IMRIZE stz #ll
(2BEBE &F#E) HEF 12/15 (A) 8:00 B 825 FiXASOla—IL
-3 I -
D XKgI 215 EEBEI 1 — EER ® EE 2%
Ad—hEE 23-95 Ad—EE
- 25-14
2 {25—18} 1 Al B2 2 {25_”1 0
25-14
@ EE =21 p= 4= 2 —— RKEIN | KEN 25
Ba—hi#E 2 {gg:;g} 0 A4 :6 B4 2 {gg::g} 0 Ba—t#E
@ AP =25 k=3 3 958 e AME @ —EL 25
Ba—hrEs& 2520 2 25-11 0 2510 Ba—hi#E
2 {25—13} 0 A2 B1 2 {25—18} 0
@ —5i 25 —Ei 4 EE!E* — x| @ AP 2B
AD—hEE 25-20 AD—hEE
2| 27-29| 1
25-23
b= 4= AMEE
=4=F[4 EBER
2| 5355 | 0 ASt—mimmBs 2| 3251 | 0
—=4t fos Il
2| 19-25| 1
25-22
BE KB e & 3 EWMEE af == st EBR




